PR A 2 R AR 2 R110210% 1p-1102107 31p W 4#E L F

1102117 15p §

P #F Y35 Yo B et A £1%F & * 53
107 1p 1073075| % 4L 3,000 T > FLAF B
107 1p 10730764k42 % 3,000 Mo~ A B
107 1p 1073891 |2 2% 10, 000 T~ FLAT B
107 1p 1073892| 7 148 1,000 Mo~ A B
107 1p 1073893| %= 3n . 1,000 o~ A B
107 1p 1073894| 2 4 = 600 o~ A B
107 1p 1073895| 2 & % 500 o~ A B
107 1p 107389938 % & 1,000 o~ A B
107 2p 1073896(:% & % 300 Mo~ A B
107 2p 1072366 % % = 1,000 ¥R 45 4T B
107 2p 1072367 |45 2 1,000 oA 4 AT B
107 3p 1073123| % WHFRME L 20w ¢ 3,000 oA 4 AT B
107 3p 1073124 % 5% 4 1,000 |Mfe»~ ¥R 5 Ewe
107 3p 1073125(% p 3k 1,000 |Mfe»~ ¥R 5 Ewe
107 3p 1073126| % & W% 4 12 @ 1,000 |Mfe»~ ¥R 5 Ewe
107 3p 10731273 % # 1,000 |Mfe~ ¥R 5 Ewe
107 3p 1073128 Fh %5 3 300 Mo~ A B
107 3p 1073130|r % 2 300 R T
107 3p 1073131|/ 2 300 ¥ % A
107 3p 10731322 2 & 300 ¥ % At e
107 3p 1073133| 3= % 300 Y % AT e
107 3p 1073134|% % i 300 ¥ % A
107 3p 1073135|5& ¥ = 300 Y A AT
107 3p 1073136| £ # » 300 Y % AT e
107 3p 1073137|%* 2 2 1,000 & %t es
107 3p 10731384+ g 2 1,000 CE Rt
107 4p 1073140 % % -k 3,000 Y % 4 et
107 4p 10730774k % =4 3, 600 Mo~ A B
107 4p 1073900(Fk % & 2,000 Mo~ A B
107 4p 1073901 |F % 4 2,000 Mo~ A B
107 4p 1073902| % % & 1,200 Mo~ A B
107 4p 1073903| % 4 #+ 3,000 Mo~ LA Bb
107 4p 1073904 5% % 2,000 Mo~ LA B
107 4p 1073905|ra % iE 1,000 Mo~ A B
107 4p 1073906| 47 £ I 1,000 Mo~ LA Bb
107 4p 1073907|+ % &% 1,000 Mo~ A B
107 5p 1073078| % % i 3,000 Mo~ A B
107 5p 1073908| % % 2 2,000 Mo~ A B
107 5p 1073909 | 3= i, & 2,000 Mo~ LA B
107 5p 1073910|m < 48 3,000 Mo~ LA B
107 5p 1073911 | % % 3,000 Mo~ LA B
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P #F Y35 Yo B et A £1%F & * 53
107 5p 1073912] & = 4 L 3,000 M~ AT BA
102 5p 1073913 4= % ~ & % 2,000 M~ AT BA
102 5p 1073914(¢ #7p4 1,000 M~ AT BA
107 5p 107391537 iz 42 % 1,000 MojT » A A
10% 5p 1073916(+F 23 500 M dT » At s
107 5p 1073917|& £ 2 500 M~ AT BA
102 5p 1073918 j 2 500 M~ AT BA
102 5p 1073919 £ % 500 M~ AT BA
102 6p 1073920| =+ + 500 ¥ R AT B
107 6p 1073921 | > 5 500 ¥ R AT B
107 6p 1073922| Ff = 7 500 ¥ R AT B
107 6p 1073923|% =+ % 500 ¥ R AT B
102 6p 1073924 (% 53 2 500 ¥ R AT B
107 6p 1073925( f§ 44 500 ¥ R AT B
107 6p 1073926 | 47 73 42 500 Y % A4 p4
107 6p 1073927( 2 2 jF 500 ¥ R AT B
107 6p 1073928 @47 500 ¥ R AT B
107 6p 1073929 % % 35 500 ¥ R AT B
107 6p 1073930] 5 57 % 500 ¥ & At
107 6p 10739313 £ 500 ¥R AT B
107 6p 1073932| %1 = % 500 ¥R AT B
107 6p 10739334k ¢ fr 500 ¥R AT B
107 6p 1073934 %]~ i 500 ¥R AT B
102 6p 1073935| %" & % 500 ¥R AT B
102 6p 107393638 ¥ i& 500 ¥R AT B
102 6p 1073937| %1 5. 500 ¥R AT B
107 6p 1073938|3& 4> ~ s &% ~ % gk 3,000 ¥R AT B
102 6p 10739393 58 500 ¥R AT B
107 6p 1073940(% « £ 500 ¥R A B
107 6p 107394145 = & 300 F R AL AT B
102 7p 1073141 % & 5 Frde 3,000 T > AT BS
107 7p 1073942] =8 L +& 500 Mo~ AT B4
107 7p 1073943(&E = ¢ 10, 000 Mo~ AT B4
107 7p 1073944 | %= i % 3,000 Mo~ AT B4
107 7p 1073945| % 2 2,000 Mo~ AT B4
107 7p 1073946| 3= "F)7 ~ PR 1,000 Mo~ AT B4
107 8p 10739474 Fe & 3,000 Mo~ AT B4
107 8p 1073948|m 3 =+ 2,000 Mo~ AT B4
107 8p 1073949|5: 4 + 100 Mo~ AT B4
107 8p 1073950 5% 45 %e 100 Mo~ AT B4
107 8p 1073951 % #r4R 100 )T ~ A s
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P #F Y35 Yo B et A £1%F & * 53
107 11p 107308275 4p 20, 000 Mo~ A B
107 12p 1073952| £ p i& 1,000 o~ A B
107 12p 1073954| % % = 1,000 T~ FLAT B
107 12p 1073955 % # pf 200 T N FLAT B
107 12p 1073956|% & & 200 o~ A B
107 12p 1073957 & = # 200 T~ FLAT B
107 12p 1073958| & i& 42 200 T N FLAT B
107 12p 107395947 % 4 1,000 o~ A B
107 12p 1073960 Fa # 2£ 500 T N FLAT B
107 12p 1073961 |45 48 & 500 Mo~ A B
107 12p 1073962| % < & 200 Mo~ A B
107 13 p 1073963 [AL )2 37 3 2@ & & 5,000 Mo~ A B
107 13 p 1073964 #nik & 3, 200 Mo~ A B
107 13 p 1073965 & 5+ 1,000 Mo~ A B
107 13 p 1073966| 2 3= 600 Mo~ A B
107 14 p 1073967|F 5 4,000 Mo~ A B
107 14 p 1073968|58 % & 1,000 Mo~ A B
107 14 p 10739694k % ## 1,000 Mo~ A B
107 15p 10730802 ik & 10, 000 Mo~ A B
107 15p 1073970 F& & % 5,000 Mo~ A B
107 15p 1073971 (¥ + % ~ #1345 i 5, 000 Mo~ A B
107 15p 1073972|8 ¥ & 1,000 Mo~ A B
107 15p 10739738 & 4%_ 1,000 Mo~ A B
107 15p 1073974| B 4 1,000 Mo~ A B
107 15p 1073975|5& Fdp 1,000 Mo~ A B
107 15p 1073976 % ~ £ 500 T~ FLAT B
107 15p 1073977 4851 500 T N LA B
107 15p 1073978|3& ¥ # 300 Mo~ A B
107 167 10739932 pe 1,500 TR 4= A et
107 167 10739942 e +> 500 3 R 42 AT pb
107 18p 1073979|F ¢ ™ g %4 112 7 2,000 Mo~ A B
107 18p 1073980| 2 £ 4% 1,000 Mo~ LA Bb
107 18p 1073981 |4k 2 = 1, 000 Mo~ LA B
107 18p 1073982|F & = 2,000 Mo~ A B
107 18p 1073983 %1 =2 4k 1,000 Mo~ LA Bb
107 18p 10739843 4% 600 Mo~ A B
107 18p 1073985 % + 600 Mo~ A B
107 18p 1073986|#%% % 500 T N FLAT B
107 19p 1073142 = 4 3,000 Mo~ LA B
107 19p 1073988|p4 ;2 « S4B K iz g 20, 000 Y % At e
107 19p 1073989|5& < =k 3,000 Y % At e
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107 19p 1073990| 4§ £ ~ 4§ 4 2,000 Y % At
107 19p 1073991|% & & 2,000 R T
107 19p 1073992|# ~ % 200 Y % At 4
107 19p 1072368 % & ¥ 3,000 PG %At e
107 19p 1072369| % < @ 3,000 4 % A B
107 19p 1072370| 5 % # 3,000 ¥ % A4 pb
107 20 p 1073995( 3k 2R 1 i 4 *2 2 2 6, 000 o~ A B
107 20 p 1073996| & #= 1,000 o~ A B
107 20 p 1072371 & = 4 L 1,000 Y % At e
107 20 p 1072372|+k % = 5, 000 R T
107 21 p 1073997| & % =+ 3,000 Mo~ A B
107 22p 1073998 | #44 1,000 Mo~ A B
107 22p 1073999|++ B 500 Mo~ A B
107 22 p 1074000| F 735 2 200 Mo~ A B
107 25p 107400145 % & 2,000 Mo~ A B
107 25p 107400235 54, 2,000 Mo~ A B
107 26p 1074003|+k 4 = 2,000 & % At
107 26p 1074004| 45 4. i 1,000 R T
107 26p 1074005| 4 £ 300 Y % 4 et
107 27p 1073081 (R x ¢ bl ¢ £ F &£ 3,000 Mo~ A B
107 27p 1073083|:x 4 = 10, 000 Mo~ A B
107 27p 1074006|3% + §% 500 Mo~ A B
107 27p 107400745 i & 200 Mo~ A B
107 27p 1074008 % 4 4 500 Mo~ A B
107 28 p 1074009| % 5% 2 2,000 TR A HAT B
107 28 p 1074010| ¢ R4 g 1,000 3 Ry 42 A Bt
107 28 p 1074011|3% % = 1,000 3 Ry 4= AT Bb
107 28 p 1074012|% = = 520 3 Ry 4= AT Bb
107 28 p 1074013 b 35 i 4k 100 3R 45 At e
107 29 p 1074032| 7% ~ 1,000 ¥ % A e
107 29 p 1074033 =ik 5% 1,000 ¥ % At e
107 29 p 1074034|- 05 % B 4 £5 129 1,000 ¥ % At e
107 29 p 1074035| % 238 500 ¥ % At e
107 29 p 1074036|+k % 3 ~ Pk 500 % A pb
107 29 p 1074037 2z 4¢, ~ waE % 100 Y& AT et
107 29 p 1072373532 4 5, 200 ¥ % At e
107 29 p 107237352 4 3,000 Y % 4 et

&3+ 285,820




